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Parallel Practice Worksheet Namemx

J
In the figure at the right, pl ¢, me1 =107, % na
and m£ 11 = 48. Find the measure of each 35
angle. /B
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in the figure, E_Hﬁ msl =58, ms2=47, AT 1 < 2,{«‘3

and m23 = 26. Find the measure of each Y f:;
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Number each of the following problems #1 — #5 and redraw the picture on separate paper. Then show all work to find
the missing variables. Staple your paper to this worksheet.

Redraw each of the following, selve for the missing variables.
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Write the equation of the line:

1. Parallel toy = 5x + 3 and passing through the point (3, 4)
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2. Perpendicular to the line 2y = 4x - 8 and passing through the point (-4, 3)
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3. Parallel to a line with slope of 8 and passing through the origin.

U= DX

4. Perpendicular to the line 5x - y = 2 and passing through the point (7,0)
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